David Youngberg

Econ 310 

Homework 3
Please answer all the following on a typed, stapled separate sheet of paper. Make sure that you justify your answers and use your own words.
1. Briefly describe the four combinations of options we discussed in class. Be sure to explain how each position makes money and what the investor taking that position predicts about the state of the asset in the future.
A long call is buying an option to buy. The investor wishes to lock in a price to purchase from the short position. She’s betting that the price will increase, allowing her to buy from the short position and then sell on the market at a higher price. 
A long put is buying an option to sell. This investor wishes to lock in a price to sell to the short position. He’s betting that the price will decrease, allowing him to buy on the market and then sell to the short position at a higher, locked in price. 

A short call is selling an option to buy. This investor wishes to establish a price that the long position can use to buy. She’s betting that the price will decrease, because then the other position can’t sell to the market at a profit and thus the short position will pocket the contract price.
A short put is selling an option to sell. This investor wishes to establish a price that the long position can use to sell. She’s betting that the price will increase, because then the other position can’t buy from the market to make a profit and thus the short position will pocket the contract price.
2. Using the information below, illustrate a short strip. Be sure to indicate the break even point(s) and the profit (or loss) ceiling (or floor).
	5,000 Troy Ounces of Gold

	Strike Price
	Call (June)
	Put (June)

	950.00
	20.40
	15.12
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3. Suppose Irwin the Investor checks on the price of options one day and notices the information below. For half a moment he’s very excited and then suddenly realizes something and calls in his son, Herbert the Hacker. He then has a long talk with him at the end of which Herbert admits he hacked his way onto Irwin’s computer and put false information on. How did Irwin know the data were faked?
	1,000 Barrels of Light Sweet Crude (Oil)

	Strike Price
	Call (June)

	120
	5.25

	130
	10.40

	140
	15.55


With these prices, we can construct a butterfly spread such that no matter what the price of oil becomes in the future, the investor will never lose money. Using long calls at 120 and 140 and two short calls at 130 the investor can make as much as 10 per barrel and at worst, break even. This easy money would never last in the market (remember the efficient market hypothesis) and contract prices would adjust away from this opportunity before the pure profit would be set up.
4. What is noise (as described by Black, 1986)? Describe an incident where you acted based on some noise you received. What is it about noise that makes it understandable that you acted this way when you got the noise?
Noise is the opposite of information though simultaneously indistinguishable from it. This latter quality describes why people act on noise. For example, last year I went out on a date. Everything about the outing seemed to indicate it was a date—we went to see a movie, it was a Saturday night, I paid for us both, etc. I received signals from her that there was interest. But I later discovered she didn’t consider it a date at all. The noise in this story is my interpretation of the facts (note it was not the facts themselves; there is no doubt that we went out on Saturday but there is noise concerning the significance of that fact). Even looking back my interpretation still seems reasonable, highlighting how hard it is to distinguish noise from information. But obviously I was adding more significance than there was while ignoring other sources of what turned out to be important information to confirm my own noisy conclusion.
5. Suppose the government decided to fund the recent economic stimulus package by printing money. Assuming economic growth remains the same, what would happen? Describe an advantage and a disadvantage of this consequence.
If economic growth is constant, the additional money would render the dollar less valuable than it was before the stimulus package. There are additional dollars that are chasing the same amount of goods. Inflation would set in. This inflation would be harmful if it contributed to uncertainty about the future state of the economy. The lack of stability would hamper investor’s capacity to plan and thus assuage the engine of economic growth. At the same time, since people suffer from money illusion, it would reduce real wages while keeping nominal wages the same. Inflation would eat away at the importance of the minimum wage, reducing deadweight loss.
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